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! In space, astronauts cannot cry, because there is no gravity, so the 

tears can’t flow.

The first Harley Davidson motorcycle was built in 1903, and used a 
tomato can for a carburetor.

Actor Tommy Lee Jones and former vice-president Al Gore were 
freshman roommates at Harvard.

Religion in the USA -- 2001 survey: 76.7% Christian (52% 
Protestant, 24.5% Catholic), No Religion 14.2%, Judaism 1.3%, 
Buddhism 0.5%, Islam 0.5%, Hinduism 0.4%.

The Pledge of Allegiance: “I Pledge Allegiance to the flag of the 
United States of America and to the Republic for which it stands, 
one Nation under God, indivisible, with liberty and justice for all.”

With a gross domestic product (GDP) of over $14 trillion, the U.S. 
has the largest national economy in the world. It’s 25% of the 
world’s GDP.

In 1638, the Swedes founded New Sweden (part of which became 
Delaware, New Jersey, and Pennsylvania).
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Completar los espacios con la “tag question” correspondiente.

1	 They weren’t doing their 
homework, ....................................

a. did they?
b. weren’t they?
c. were they?

2	 I am a novel writer, 
..........................................................

a. am not I?
b. aren’t I?
c. am I?

3	 You eat meat, 
............................................... 

a. do you?
b. don’t we?
c. don’t you?

4	 Their parents went to Florida 
last year, ....................................

a. didn’t they?
b. weren’t they?
c. didn’t them?

5	 Your friend can’t speak Italian, 
........................................................

a. don’t they?
b. can’t he?
c. can she?
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Soluciones: 1.- c) were they? 2.- b) aren’t I? 3.- c) don’t you? 4.- a) didn’t they? 5.- c) can she? 6.- b) Glenda 
bought a dozen eggs, didn’t she 7.- b) Your cousins liked the movie, didn’t they? 8.- c) His mother always 
forgets a bunch of grapes at the shop, doesn’t she? 9.- c) She has a car but never drives it, doesn’t she? 
10.- c) I didn’t buy a can of coke, a bottle of wine and a carton of milk.

	 6	 a.	 Glenda bought a dozen of eggs, didn’t she?
b. Glenda bought a dozen eggs, didn’t she?
c. Glenda bought a dozen eggs, did she?

	 7	 a.	 Your cousins didn’t like the movie, didn’t they?
b. Your cousins liked the movie, didn’t they?
c. Your cousins liked the movie, did they?

	 8	 a.	 His mother forgot a bunch of grapes at the shop, doesn’t she?
b. His mother didn’t forget a bunch of grapes at the shop, didn’t she?
c. His mother always forgets a bunch of grapes at the shop, doesn’t she?

	 9	 a.	 She has a car but never drives it, hasn’t she?
b. She has a car but never drives it, don’t she?
c. She has a car but never drives it, doesn’t she?

10 	 a.	 I didn’t buy a bottle of coke, a can of wine and a carton of milk.
b. I didn’t buy a carton of coke, a bottle of wine and a can of milk.
c. I didn’t buy a can of coke, a bottle of wine and a carton of milk.

Elegir la oración correcta en cada caso.




